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Question Number : 1 Question Id : 5447341281 Display Question Number : Yes Is Question
Mandatory : No

LetA={1,2,3,4,5,6 } Number of functions ‘f* from 4 to 4 such that f(m) + f(n) =7

wheneverm+n=71s

A={1,223,456}dmnrosodom+n=7 O fm)+ f(n) =7 @0335
A oot A & (0 “f" D00krw Dod)

Options:
525

1. %
5 o216
3 % 200

4 % 729

Question Number : 2 Question Id : 5447341282 Display Question Number : Yes Is Question
Mandatory : No
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Let A be the set of all 3 X 3 scalar matrices with real entries. If f: 4 - R is defined by f(m) =
det(m) ¥ m € A. then ‘f" is

TR VoP(LY APVSVIT (1R Dogr| ArGsw AA 4 SR f:4A - R f(m) =
det(m) ¥ m € 4 1 DD i@ f 00300

Options:

One — one but not onto
9 D(SB0 5°R) VoFREL S°ED

Onto but not one — one
| R0AREA0 57N 0(SHA0 ST

Bijective

(e
3.V

Neither one — one nor onto
L A(SAW, VoW Gotlr 57

Question Number : 3 Question Id : 5447341283 Display Question Number : Yes Is Question
Mandatory : No

10710 "

—
16 +£107%

The inverse of the function y =

1010
— DOIPIS. DS B HAONAD AB?

7

1 —
T 10% 10

Options:
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Question Number : 4 Question Id : 5447341284 Display Question Number : Yes Is Question
Mandatory : No

Foralln €N, (n+ 24)(n+ 25)(n + 26)(n + 27) is divisible by
n € N e@ond (n+24)(n+ 25)(n+ 26)(n + 27) & o 0 PHoDe) B8

Options:
1 % 7.4 4

- 26

w 29

4.0 *E

Question Number : 5 Question Id : 5447341285 Display Question Number : Yes Is Question
Mandatory : No
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If A and B are two square matrices with det A = 5 and det (BT. AT) —15, then det B 1s equal to

A 208080 B 093 98080 Srdgen. detA = 5 208aho det (B'.A") = —15 wand detB dewd

Options:
T E

2. & —3

Question Number : 6 Question Id : 5447341286 Display Question Number : Yes Is Question

Mandatory : No

1 0 0
ItA, =10 k =1 | henl, £ A, Favt-B, .=
0 k—1 k

1 0
A=10 k k—1|©00dA +A,+ +A4,,=
0

Options:
200

, % 40

4 v 400
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Question Number : 7 Question Id : 5447341287 Display Question Number : Yes Is Question

Mandatory : No

-X X 2
The values of ‘x” for which the givenmatrix | 2 x  —x [ will be non-singular are
r —2 —2
x ¥ 2]
2 x  —x | 038 Foron Ards eand, ‘X’ Qe Jod?
| & =& =%
Options:
- — 2 x=2

For all x other than 2 and —2

, 2 308050 —2 a0 AT ‘xT Aig) ) Jenden
2.

o
"
)

L
|/
|
o

Question Number : 8 Question Id : 5447341288 Display Question Number : Yes Is Question

Mandatory : No
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If @, b, ¢ are real numbers such that a® + b + ¢? — ab — be — ac < 0. then

(a=b+1)* b =¢ e
(111 AL bll (b = 2)3 C13 - ﬂ13 =
ﬂ1s - bls bl? e Cl? (C‘ . 3)1

a*+b*+c*—ab—bc—ac<0 AL @, b, ¢ T°RD VoI AN

(a—b+1)° b7 — ¢’ ¢? —a’
all = b“ (b — .. 2)3 CH _ ﬂ_13 =
ﬂ_ls e blS bl? - Cl? (C‘ e 3)1

Options:
1w 2abc

Question Number : 9 Question Id : 5447341289 Display Question Number : Yes Is Question
Mandatory : No

. X y z . '
Ifa=——, b=——& ¢ = — where x, y,z are not all zero, then what 1s the value of

y-z z-x x-y
ab+bc+ca="?

.r,y,zumblma“lw?b@w.a:;:. bzz%&cz x—;—mé ab+bc+ca=

Options:
1. % 0
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2. v 1

3.8

Question Number : 10 Question Id : 5447341290 Display Question Number : Yes Is Question
Mandatory : No

Define f:C — R by f(z) = |z| V z € C. Then which of the following is false?

f:€ = R 9008 ¥z € C,f(2) = |z] T Q6N & S08 TOS" 26 9RG30

Options:
, x F=2)=fl2) VzEC

5 % f(z)=f(z) ¥zEL

L« @) =(F@) vzec

f(zf-t—zzz) =f(zf)+f(222) Vz,2z, EC

4. v

Question Number : 11 Question Id : 5447341291 Display Question Number : Yes Is Question

Mandatory : No
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Options:

1‘\%21

s
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Question Number : 12 Question Id : 5447341292 Display Question Number : Yes Is Question

Mandatory : No

ey n
If n is a positive integer. then (1 +iv3) +(1—iV3) =

n g 653 roosd. (1+iV3) +(1-iV3) =

Options:

nm

g cos —-

1%

2 Ccos—

ontl nm
g0s—
3.V

4, %
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Zn nmw
2 cos?

Question Number : 13 Question Id : 5447341293 Display Question Number : Yes Is Question
Mandatory : No

b ol
Let 1, 0, w® be the cube roots of unity, What s the value of (1- w4+ &™) -2(1+ w- ™) =7

5 4
1,,0" 63D ‘T'ag), pdarergd, (1- v+ o) =2(14 0= 07) Dewd dod?

Options:

. 64w

B =3
T, 64 w

64 w1

Question Number : 14 Question Id : 5447341294 Display Question Number : Yes Is Question
Mandatory : No

Let m and n be two mtegers such that 0 < m < 10 and 0 < n < 10. Then the number of

ordered pairs (m,n) such that x> + mx + n = 0 has real roots is

0<m< 10 280 0 < n < 10 Joharos S'0E &od m,n TSV Xt +mx +
n =0 TS Jurerey &oker (m,n) S0t e ‘D‘:)l

Options:
71

1%
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73
3

7

Question Number : 15 Question Id : 5447341295 Display Question Number : Yes Is Question
Mandatory : No

The solution of the equation 21 — x* — 22x — 24 = 0 when two of the roots are in the ration 3 : 4 is
20° = xF = 200 - 24 = 0 200 POl Botd Sareren 3 : 4 Ay 98’ ol & Aareren AD?

Options:

Question Number : 16 Question Id : 5447341296 Display Question Number : Yes Is Question

Mandatory : No
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3

If the roots of the equation x* — ax® + bx — ¢ = 0 are in H.P. then the mean of the roots is

¥ —axt +bx — ¢ = 0 HDEGETS Aureren HP &° dofd, Surere) HO7H0

Options:
a

3¢

Question Number : 17 Question Id : 5447341297 Display Question Number : Yes Is Question
Mandatory : No

If x* + px + 1is a factor of ax® + bx + c. then

ax® + bx +c 9 x% + px + 1 28 s6eTosHo0d.

Options:

% a’+c?=—ab
2 2 _

, 8 @ —C = ab

3 ﬂz . ﬂ.b

|
!
I

2 2
. a +c ab
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Question Number : 18 Question Id : 5447341298 Display Question Number : Yes Is Question

Mandatory : No

The value of ?Pg — 3 (GPz) 1s equal to

"P; —3(°P,) Dendd 2ArdRH6

Options:

Question Number : 19 Question Id : 5447341299 Display Question Number : Yes Is Question
Mandatory : No

The number of ways in which ‘n” distinct objects can be put into two different boxes is

Both K HE P, N’ DG WYL AY) GBIV Gordrivdn

Options:
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ncz

i nn—1)(n—2)

Question Number : 20 Question Id : 5447341300 Display Question Number : Yes Is Question
Mandatory : No

A student has to answer 10 out of 13 questions i an examination. The number of ways in
which he can answer 1f he must answer atleast 3 of the first five questions 1s

w8 DOES" w8 Dcrg% 13 93)08"10 68 D8rErdo FToHIT. A6 5 Yo Aol
SRR 3 SRV%OLE AN 10 D) VLD FAFTTL TADA IV Do

Options:
1. % 376

-t

. x 286

4 % 386

Question Number : 21 Question Id : 5447341301 Display Question Number : Yes Is Question

Mandatory : No

¢ X Bx+C A l C i
— + , then °C" 1s
(1+x4)(3—2x) 1+x¢ 3-—2x

= x Bx+C A
= + 200 ‘C Ded

(14+x2)(3—2x)  14x2 ' 3-2x
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Options:
2

1.% 3

Question Number : 22 Question Id : 5447341302 Display Question Number : Yes Is Question
Mandatory : No

. , m .
In a triangle ABC. suppose none on the angles are multiples of o then what 1s the value

cotAcotB +cotBcotC +cotAcotC =

aRoasws’ D ag) Endw, -; g, g SIS cot A cot B +cot B ot € +

cot A cotC e

Options:

1.8 @
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Question Number : 23 Question Id : 5447341303 Display Question Number : Yes Is Question
Mandatory : No

_ 180° | —_—
Ita = =E then 3 sin @ — 4 sin® « 1s equal to

180°

a = 2900 3 sina — 4sin? @ £ DATIIS

Options:

1 % cos 4a

5> & sin4da

3 % COS 3a

Question Number : 24 Question Id : 5447341304 Display Question Number : Yes Is Question
Mandatory : No

The larger of cos(log 8) and log(cos8) ife ™% < 8 < w/2 is
e % < § < /2 eand cos(logf) 2080w log(cos f) wes* D& DEB?

Options:

i cos(log 8)

5 log(cos @)
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None of function is larger

2 DO DEA ST
3. % =

One of the two function is undefined on domain even to compare

: T\ 0L, 208 DRI WD DA AE(WoLseIETED
4,

Question Number : 25 Question Id : 5447341305 Display Question Number : Yes Is Question

Mandatory : No

Which of the following expression is always true?

&1 S0 oS’ DA DaAn?

Options:

X coshx—1
cosh =
2 2

1, %
( X ) 2 sinhx
tanh|— ) =
5 % 2 coshx +1
. X sinh x
sinh|— | = — _
2 V2(coshx + 1)
3.
X sinh x
sinh - = —= I
4% v2(coshx —1)

Question Number : 26 Question Id : 5447341306 Display Question Number : Yes Is Question
Mandatory : No
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In any A ABC. b?sin2C + c¢?sinB =

ABC &z0230¢° b?sin2C + ¢?sinB =

Options:
1.8 A

24

3A

4'\\‘?4&

Question Number : 27 Question Id : 5447341307 Display Question Number : Yes Is Question

Mandatory : No

Number of triangles in which tan A + tan B + tan C = cot 4 + cot B + cot C 1s

S22 8 tan A + tan B + tan € = cot 4 + cot B + cot € OAb{er ol SRRV Vo)

Options:
1

1.8

Infinite
> x ©Rodo

3.+
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Question Number : 28 Question Id : 5447341308 Display Question Number : Yes Is Question
Mandatory : No

If PQ + QR = (21> —5)RP then i =

PQ + QR =(21*—5)RP ©ond A =

Options:
+1

Question Number : 29 Question Id : 5447341309 Display Question Number : Yes Is Question
Mandatory : No

If °C” 15 the midpoint of line segment AB and ‘P’ 1s any point not on the line AB. then

AB Bar 0630 P ‘€’ 06 Doto. AB 390 6 G Doty ‘P’ o,

Options:

« PA+PB+PC =0

, x PA¥PB+2FC=0

3 ¢ PA—-PC =PC —PB

PA+PB—PC=0
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Question Number : 30 Question Id : 5447341310 Display Question Number : Yes Is Question

Mandatory : No

| , _ — e
If ‘6" 1s the angle between the unit vectors a and b . then Slll;ls equal to

. - s P
a 08050 b e A DAL WG Eraaw ‘6" eond. sin e 80 VATV

Options:

R

——
ek,

b
b

—

o

Question Number : 31 Question Id : 5447341311 Display Question Number : Yes Is Question

Mandatory : No

The vector a lies in the plane of vectors b and ¢ . then

b 208030 T © S0AVS° T wE AP oS

Options:

1-“[(1 bc]
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Question Number : 32 Question Id : 5447341312 Display Question Number : Yes Is Question
Mandatory : No

@ and b are unit vectors such that @ + 2b 1s also a unit vector. If 6 is the angle between @’

and b . then sinf + cos® 6 + tan® 6 =

T +2b oS HO% oo @, b o0 05D A% 803D T, b © 06 S0 6

000 sinf + cos®  + tan® 0 =

Options:
. % 3

Question Number : 33 Question Id : 5447341313 Display Question Number : Yes Is Question
Mandatory : No
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—_—

Ifa b,z arenon-zero vectorssuch@ X b =c andb X¢ = a.thena X T is
@,b,c 3 APJ[B6 DO T X b =c &b b XT=a oot a X T &R
Options:

Equal to b

| x b S RAER3

Parallel to F

—

b £ DATPoGa0
2.9

Perpendicular to b

—

o b 8 Loty

Parallel to a

4 ox @ S0 DBFeBEI0

Question Number : 34 Question Id : 5447341314 Display Question Number : Yes Is Question
Mandatory : No

Consider the vectors
u=ai+bj+ckv= a’i + sz + f?‘k,w =i + bsj + ¢k, These vectors are coplanar 1f
and only 1f
= ai + bj + ck,v = a%i + b + k,w = @*i + D7) + Pk 0 283w adasren
5 Iol)

Options:

All a, b and ¢ are equal
° a, b OB ¢ e VAT
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One of a, b and ¢ 1s zero

s 0 15 b 08030 ¢ 0e5° DE 288 HOPRLE0

Any two of a, b and ¢ are equal

s % @b SoBok c 285" DDT° Totdd DAT°HDAD

Either one of a, b and ¢ 1s zero. or any two of a, b and ¢ are equal

. a,b, c 0B° 288 B 5°R) OO° DT Bt NATHAL 5°R) T 0L

Question Number : 35 Question Id : 5447341315 Display Question Number : Yes Is Question
Mandatory : No

The mean marks of 25 boys mn a class 1s 61 and the mean marks of 35 girls in the same class s
58. Then the mean of all 60 students 1s

2,8 B60AS° Aod 25 YA ard)be.: wosmsman 61, 0803w 35 ook w:u‘éanu
36,0 oS00 58 wowd & S61d &' 0B 53@“5%30 LLERVRIRVALY

Options:

, » 59:25
, u 5725

4 u B3.25

Question Number : 36 Question Id : 5447341316 Display Question Number : Yes Is Question
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The arithmetic mean of five natural numbers 15 40. The largest exceeds the smallest number by 10.
If @ 1 the maximum possible value for the largest of these 5 numbers, then the number of positive

integral divisors of & 1

5 NP2 RV oS d{0aw 40. & "ma:yﬁ‘ (1633 oa sag Roa) Sot) 10 J8.. &
".ouasévé" e :Jg 'rboaalg 2 d&%:l VISTUR) ’:ooa:lg @ 9ONN ¢ S (L G PRS0 "aoa,a5

Options:

¢ u 38

) 10

3. % 9

Question Number : 37 Question Id : 5447341317 Display Question Number
Mandatory : No

Three numbers are chosen at random without replacement fromtheset A= {x € Z |2 € x &

11}. The probability that the minimum of choosen numbers 1s 3 and maximum 1s 7 is

QRO B0 580 A = {x €2 |2 < x < 11} &3 a1 Aot 00PEd Do e
D80) EA 1, © VoS’ SN 3 SBaky 7 8K ozd] Ll Reer(d dod?

Options:
1

). ¢ 40
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Question Number : 38 Question Id : 5447341318 Display Question Number : Yes Is Question
Mandatory : No

If A and B are two events with P(4 U B) = 0.65 and P(B) = 0.2. Then the value of P( I\ ) + P( Bt ) 18

A 30Bakw B 3 ot ks P(4 U B) = 0.65 &uBat P(B) = 0.2 wawd, P(A°) + P(B")
DS od?

Options:
. % 085

2‘ % 0.9

5 o E15

Y

Question Number : 39 Question Id : 5447341319 Display Question Number : Yes Is Question
Mandatory : No

One ticket 1s selected at random from 50 tickets numbered 00, 01,02, ... ... 49. The probability

that sum of the digits is 10. given that product of the digits 1s 9 1

00,01, 02, ... ..49 & 5080w 50 &3 ot 28 B3E dothdE o), &8 858 P o5V
vg:m 9 ARAYED, & VoL Adaw 10 5 RS RogPI(d 2odh?
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Options:
9
1.% -
1
2. % 4
1
3. *
2
4 % 25

Question Number : 40 Question Id : 5447341320 Display Question Number : Yes Is Question
Mandatory : No

A one-rupee coin. a two-rupee coin, a five com and a ten-rupee coin are tossed simultaneously.

Then the expected value of the sum of the values of coins that show heads up 1s

1 drarad, 2 draraen, 5 draraen, 10 Grarohe) TriEanen Trenfotdd 28 0
ADODV Y 85" ) 00 HE TR ANGAS BVodT" 2)e:)

Options:
1.8 8

5 u 2D

4,
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Question Number : 41 Question Id : 5447341321 Display Question Number : Yes Is Question

Mandatory : No

The equation of the locus of a point which is equidistant from the points (2,3) and (4,5) is:

(2,3) 0805w (4,5) Dot VAT Brdess Godk Do) Dotan:Eaw

Options:

i XFY=0
2. % X =48
1Vx+y=7

, % dx+4y=38

Question Number : 42 Question Id : 5447341322 Display Question Number : Yes Is Question
Mandatory : No

The equation obtained by transforming x* + y* — 6x + 10y — 2 = 0 to the paralle] axis
through (3, -5) 1s

Sr0 Dot (3,-5) D Ardy RArods ©F HBIGD SoIT I6\E Ardd ez a;,gug

x* 4 y? =61 + 10y - 2 = 0 g, &8 P

Options:
2 o

1 % X + y° =16
.2 %

5 % X +¥y =9
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x2+y2 =25

2 4
2 P> =+ 36

Question Number : 43 Question Id : 5447341323 Display Question Number : Yes Is Question
Mandatory : No

If a point (a, a) falls between the lines |x + y| = 4 . then

x + v| = 4 207Dt B 06 (a,a) Do) ol N

Options:

1, v lBl=2

). w lal =3

Question Number : 44 Question Id : 5447341324 Display Question Number : Yes Is Question
Mandatory : No
If the straight lines 2x —y 4+ 1=0.4x+y+2 =0and x + y — k = 0 are concurrent, then

'k’ equals

2x=y+1=0,4x+y+2=0:00000x +y—k =0 &3 DEF0HL RS Lod.
‘k* Qend

Options:
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Question Number : 45 Question Id : 5447341325 Display Question Number : Yes Is Question
Mandatory : No

Find the value(s) of ‘k’ such that the distance between the two parallel lines represented by
(x —2y)* + k(x — 2y) = 0 is 3 units.

(= 2)2 + k(x = 2y) = 0 Bt DAToSE TepwR) Do T | Erdan 3
oS QeD oNd. k" dend(w)

Options:
1.% 0

]

5 @ B

Question Number : 46 Question Id : 5447341326 Display Question Number : Yes Is Question
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In an isosceles triangle ABC. the coordinates of vertices B and C of the base BC are (3,2) and
(2,3) respectively. If the equation of the line AB is 3y = 2x, then the equation of the line AC

15

ABC & w8 RAEP Q208" Zrd BC s, wade B. € © AErdsren S
(3,2) 0805w (2,3). Zoaa0 AB HE6mam 3y = 2x wond. AC E6HAN

Options:

.. 2y = 3x

5 % 2y =x

3 x+y=0
4% 2x —y=0

Question Number : 47 Question Id : 5447341327 Display Question Number : Yes Is Question
Mandatory : No

If 4x% — 5xy + y? = 0 represents a pair of lines with slopes m; and m,. then the value of
Imy — m,| equals

42 = Bxy + y2 = 0 208680 Aol B0 Treowd m, . m, & waRd. |m, — m,
Q0D

Options:

’I."'gl
2, %

3.v
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4, ®

Question Number : 48 Question Id : 5447341328 Display Question Number : Yes Is Question
Mandatory : No

The three lines given by the combined equation y* — 4x%y = 0 represents

y? — 4%y = 0 & oot DRDEGEAN Krdold Jarc HEVGHD

Options:

the sides of an 1sosceles triangle
2,8 “«:a‘aa&swm BZRo 03.1356 Zo2e

the sides of a right-angled triangle
28 woS'tr HZO2o c0E), ZoPew

the sides of an equilateral triangle
205 VLTV B2 dmsb Z02e

concurrent lines

- RIS BeN

Question Number : 49 Question Id : 5447341329 Display Question Number : Yes Is Question
Mandatory : No

The angle between the lines ab(x? — y?) 4+ (a® — b*)xy = 0 is

ab(x* = y?) + (a® — b?)xy = 0 2o Bave 2065 E'vasdnd
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v |3

1.9

Question Number : 50 Question Id : 5447341330 Display Question Number : Yes Is Question

Mandatory : No

Ifthe lines 4x + 3y —1=0,x —y+5 =0 and kx + 5y — 3 = 0 are concurrent then k =

4x+3y—-1=0,x—y+5=0 2008080 kx + 5y — 3 = 0 G000 VR OWN k =

Options:

Question Number : 51 Question Id : 5447341331 Display Question Number : Yes Is Question
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If (6,—k) and (=3 ,2) are conjugate points with respect to circle x? + y2 + 6x + 4y + 12 =
0. then ‘k’ equals

Ay e +4y+12=0 588 (6,—k) Lodatn (-3 ,2) Dodpen ‘roooinﬁé
Qoo and, ‘k’ devd

Options:
=

Question Number : 52 Question Id : 5447341332 Display Question Number : Yes Is Question
Mandatory : No

If the parametric values of two points A. B on the circle x? + y% — 6x + 4y — 12 = 0 are 30°
and 90° respectively, then the equation of chord 4B is

x2 +y% =61 + 4y — 12 = 0 38300 ol A. B Dododyv HT°AAH Dendw T 30°
0B 90° wad. 4B 27§ g6

Options:
1 %X +v3y =0
, % X —vV3y =0
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5 x4 \fﬁ}* — 3L 4 v‘?) =0

4 % V3x + \.."E_\-* +61=0

Question Number : 53 Question Id : 5447341333 Display Question Number : Yes Is Question
Mandatory : No
The length of the chord intercepted by the circle x* + y* — 8x — 2y — 8 = 0 on the line x +

y+1=01s umts.

X +y+1=006¢60p x>+ y* —8x — 2y — 8 = 0 Hddw 20088 eoddaodan T
o LNIIVE

Options:
14

1. %

Question Number : 54 Question Id : 5447341334 Display Question Number : Yes Is Question
Mandatory : No
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The length of the chord joining points (4 cos &, 4 sin @) and [4 cos(8 + 60°), 4 sin(6 + 60°)]
on the circle x% + v2 = 16 is

x? +y? = 16 3y380 DA (4cosf,4sin6) odasw [4cos(8 + 60°),4sin(8 + 60°)]
DorHva 500 2 JED)

Options:

e ?

2..%

16
3. %

4, ®

Question Number : 55 Question Id : 5447341335 Display Question Number : Yes Is Question
Mandatory : No

If the coordinates of the ends of a focal chord of the parabola x* = 4ay are (x, ,y,) and (x,, v,).
then

x? = day Hord0airdS (o 28 T arf W0 (11, yy) 200 (1;,y,) NS, GY\®

Options:

e Vi Vo = 4-(12

> x Y1Y2 = —4a’
2

3 u Y1Y2 =4
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Question Number : 56 Question Id : 5447341336 Display Question Number : Yes Is Question
Mandatory : No

The center of ellipse x%2 + 2y? —4x + 12y + 14 =01s

x? +2y% —4x 4+ 12y + 14 = 0 BS5Ba0 aIg), SoGdw

Options:

3, v (2,-3)

4% (2,6)

Question Number : 57 Question Id : 5447341337 Display Question Number : Yes Is Question
Mandatory : No

If n a hyperbola, the distance between the foc1 1s 10 and transverse axis has length 8. then the
length of its latus rectum 1s

28 DT VOIS THHV :335,55 Grdadw 10 Sodosw @d&é 050 JTED) 8 ons, T
DA TEI)

Options:
9

1. ®

2.
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Question Number : 58 Question Id : 5447341338 Display Question Number : Yes Is Question
Mandatory : No

If the origin is the centroid of the triangle for which (-2,3,4) and (3,-1,5) are two
vertices, then the third vertex 1s

(-2,3,4) 0ok (3,-1,5) e0 Both U™ o) 28 G20a oGP Jredot)
owd. TR Srdsd 3G

Options:

. u EE-29)

. o 28

Question Number : 59 Question Id : 5447341339 Display Question Number : Yes Is Question
Mandatory : No
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If the line joining the points (k,2,3 )and (1,1,2) is parallel to the line joining the points
(5,4,-1)and (3,2,-3). then the value of k =

(k,2,3) 0805w (1,1,2) Hododyvdd ¢85 6% 8o (5,4,-1) Sdasw (3,2,-3)
Do) £95 HOY DL VAT BEIVT Gotd, k Dewd

Options:
1

1.9

) v 2

Question Number : 60 Question Id : 5447341340 Display Question Number : Yes Is Question
Mandatory : No

The angle between any two diagonals of a cube is

205:005°D DB Bodd ST0 206 §'£2:90

Options:
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Question Number : 61 Question Id : 5447341341 Display Question Number : Yes Is Question

Mandatory : No

The plane passing through the points (1,1,1).(1,-1,1)and (-7,-3,-5) 1s

(1,1,1).(1,-1,1) 080w (=7,-3,-5) Dotoo thot J'adh deo

Options:
Parallel to x-axis
X-e9FPDS DAToG0

1. %

Parallel to y-axis

5 & V-9%P0S RAIroddGa

Parallel to z-axis
- Z-e9FPRS DATTodGAaD

3. %

4% 3x—4z—1=0

Question Number : 62 Question Id : 5447341342 Display Question Number : Yes Is Question
Mandatory : No

: sin ax
lim =
xr—0\tan bx

Options:
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Question Number : 63 Question Id : 5447341343 Display Question Number : Yes Is Question
Mandatory : No

_ (Sin—l(;;r + 3'))
lim =

x = (-3) x2 4+ 3x

Options:

Question Number : 64 Question Id : 5447341344 Display Question Number : Yes Is Question
Mandatory : No
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1+x

log (1+x) 1

x2 X

If the function defined by f(x) =
6f(0)=_

log (1 +2)*™ 1

flx) =

2
Options:

1.3“2

—=— . x # 015 contmuous at x = 0. then

- —. #0088 x = 0 3¢ 0d\0) 008, 6f(0) =

Question Number : 65 Question Id : 5447341345 Display Question Number : Yes Is Question

Mandatory : No

. dy
If y=cos(x°).z=cosxthen— =
dx

dy
y = cos(x°).z = cosx eod — =
dx

Options:

—1
— sin(x°) cosec x

1 % 180

" sin(x®) cosec x

w g :
s sin(x®) cosec x

5 M
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m
— cos(x®) cos x

4 x 180

Question Number : 66 Question Id : 5447341346 Display Question Number : Yes Is Question

Mandatory : No

¥ dy o
If v = Cos *(cosx) then find— at x = —
. dx 4
_ ST d
y = Cos (cosx) 008, x =— 36 o DD
' 4 ® dx
Options:
% 1
2.v 1
3. % 0
1
4, ® \ff

Question Number : 67 Question Id : 5447341347 Display Question Number
Mandatory : No

e = dy .
Iy =5 * [u 1 —g =yl = rzl and 0 < x < 1. then —is equal to

dx
X | r ~5 Y 3 d_}’
y=S8in"! [xv1 —x —vVx V1 — x2| 208050 0 < x < 1 ©owd. o
X

Options:
1.%

AP EAPCET 2021

:YesIs

-

el

Question

collegedunia:s

India’s largest Student Review Platform



AP EAPCET 2021

Z

3 % 2Vx—x2  yJ1—x2
s | : 1

43 1-x2 xv1—2x2

Question Number : 68 Question Id : 5447341348 Display Question Number : Yes Is Question
Mandatory : No

- d
By = J x + V'F-l’ N chansane o . then -d—z =

; dy
J?: Jr—l—\/t—{—\)l—*— »»»»»» m@ma_a:

Options:
g

1.8 Y

4,
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Question Number : 69 Question Id : 5447341349 Display Question Number : Yes Is Question

Mandatory : No
2 o

If two curves x = y2, xy = a> cut each other orthogonally at a point. then a

X =y, a0y = a° 99 S5P00uSTPRARSE VoA PototEel, a’ Aend

Options:

Question Number : 70 Question Id : 5447341350 Display Question Number : Yes Is Question
Mandatory : No

: . BT . 1 .
A particle moves along a straight line according to the law s = —3—r3 —3t2 49t + 17, where s

s in meter and ‘t" 1s i second. Its velocity decreases in

1
5= ?ﬁ = 3t% + 9t + 17 Argrd) ORGP 18 Srn V6V S $T0d. ‘t'
FEVS'AP, ‘5" D OGS"A B, ¢ St Hifew 30 rRAAD| ‘" denden

Options:
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Question Number : 71 Question Id : 5447341351 Display Question Number : Yes Is Question
Mandatory : No

Find the absolute maximum of ¥*° — ¥2° on the interval [0, 1].

[0, 1] esoa3d:a0065° x*° — x%? & e B2 (188 Dewd
Q

Options:
—3

Question Number : 72 Question Id : 5447341352 Display Question Number : Yes Is Question
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The maximum area of a rectangle that can be formed with a fixed perimeter of 20 units is
$q. units

20 a3l .’86 OEVS o BEIBETVE” (B3 TV (o BFBBUTRNN CIE)
STV G CPALY.
Options:

30

1™

2'¢25

3 % 20

Question Number : 73 Question Id : 5447341353 Display Question Number : Yes Is Question
Mandatory : No

If f(x) = x° — 5x* + 5x* — 10 has its local maxima and minimaat x =aand x = b
respectively. then 2a + b =

x=q 8o x = b 36 f(x) = x> —=5x*+5x3-10 g".f)s (1623 085 .2":)5 $34
Denden 898 &otd, 2a + b =
Options:

1.¢ 2

2. % 4

3. %
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Question Number : 74 Question Id : 5447341354 Display Question Number : Yes Is Question
Mandatory : No

dx

(sinx)(cosx)

Options:

log |sinx| + ¢

log [cosx| + ¢

o, log [tanx| + ¢

log |cosec x| + ¢

Question Number : 75 Question Id : 5447341355 Display Question Number : Yes Is Question

Mandatory : No

5 tan(x) :
If f : dx = x + alog |sin(x) —2cos(x)| + k,thena=
tan(x) — 2

dx = x + alog |sin(x) — 2 cos(x)| + k ©ond ,a =

* S5tan(x)
J tan(x) — 2
Options:

y, 8
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Question Number : 76 Question Id : 5447341356 Display Question Number : Yes Is Question
Mandatory : No

| 2x + 3 -3
J YD)+ +3)+1 b= =3 +bx+c+a' 1envalueof a+b +c

2x + 3 |
dx = wond a+b+c=
JI(JS +1D)(x+2)(x+3)+1 R EE T ta at+b+c

Options:
3

1. ®

3, v

Question Number : 77 Question Id : 5447341357 Display Question Number : Yes Is Question
Mandatory : No

2cosx +3sinx 23 ,
If f — dx =—|x+klog|4cosx +5sinx| + ¢ ,then k=__
4cosx + 5sinx 41

"2cosx + 3sinx 23 .
J g = Tl x + klogl4 cosx + 5sinx| + ¢ ©ond k =
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Options:

Question Number : 78 Question Id : 5447341358 Display Question Number : Yes Is Question

Mandatory : No

b b 5

If f x3dx =0 and [.1’2 dx = = then

a a

b b .

J x3 dx = 0 Sododw J x4 = % 29003
a a
Options:

a=-—1 & b=1

1.¢

AP EAPCET 2021
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a=-2 & b=2

Question Number : 79 Question Id : 5447341359 Display Question Number : Yes Is Question
Mandatory : No

If the area of the region enclosed by the curve x 4 y* = 16 and the lines x = 2 and x = 3 is

(3-1.,*'7 — 43— % b k) sq.units, then ‘k” equals

o 4% = 16 520 208030 x = 2, x = 3 0600 3065] dBeGAD HERY DT

(3V7 - 4V3- T+ k) .atirden wawd, k' dens

Options:

3
16 Sin~ 1 (—)
4
3
8 Sin~?! (—)
4
3
4 Sin~? (—)
4

3, %
3
2 Sin~1 (—)
4

1.¢¥

4, %

Question Number : 80 Question Id : 5447341360 Display Question Number : Yes Is Question
Mandatory : No
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Solve the following Differential equation.

808 IEVD PECETIE D BLVNAW.

(x2+1) i + 4xy = -
 ax ) x%+1

Options:
i y(x? =12 =x+c
o, y(x*+1)?=x+c
2 y(x?+ 1) =x%+c
g ;1’(,‘(2 — D=3+
Section Id :

Section Number :
Mandatory or Optional :
Number of Questions :

Section Marks :

Physics
54473426
2
Mandatory
40
40

Enable Mark as Answered Mark for Review and

Clear Response:

Yes

Question Number : 81 Question Id : 5447341361 Display Question Number : Yes Is Question

Mandatory : No

AP EAPCET 2021

el

collegedunia:s

India’s largest Student Review Platform



AP EAPCET 2021

When two resistors of resistances Ry = (200 + 2) Q and R, = (400 1 4) Q are connected in

series, the equivalent resistance of the combination 1s

B0t D5 axg), eren Ry = (200 4 2) O 2B R, = (400 £ 4) O oo 33"
SenondaR. 8 Dodiraan ang), HdS Esw desd

Options:
 x (800£7)Q

(600 + 2) ©

L™

8 o (600 +6) Q

, x (200£2)Q

Question Number : 82 Question Id : 5447341362 Display Question Number : Yes Is Question

Mandatory : No

Two towns A and B are connected by a regular bus service with a bus leaving in either direction every
T minutes. A man cycling with a speed of 20 kmph from A to B notices that a bus travelling in the
direction of his motion goes past him every 18 minutes and every 6 mmutes he notices a bus travelling
in the opposite direction go past him. Assuming that the busses travel with a constant speed. find T and

the constant speed of the buses.

Goch) e A 080 B © Aot 98 T AaFus) Bocd) (3% w0 LoHLVETRD 6Ter
TE6108 T DomrAowrdd. A K0odd B € 20 kmph 68 286 p Hosredord S8, 08I i

B3 99 18 DIV w8 Ly Treddded. HOTE HIS" DA 6 AWV 18 LAY TSV,
OTeT aéa-ges‘ B0t S8R WR0YL S6[ SV T LB LAY gd G dodd?

Options:

AP EAPCET 2021
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2
— hr & 38 kmph
27

5
=3 hr & 40 kmph

3
%hr & 40 kmph

3.¢

2
?h*r & 28 kmph

Question Number : 83 Question Id : 5447341363 Display Question Number : Yes Is Question
Mandatory : No

A ball 1s thrown at 30° with horizontal from the top of roof 20 m high with a speed of
13 m.s™*. At what distance from the throwing point will the ball. once again be at a height of
20 m from the ground? (g = 10 m.s72)

ZArd0d 20 m g% &) 3o D Kol HWP §82 VAFodoIS 30° Eted 13m.s™!
§9 Siod Hrforrdd. 06 Arad dod 20 m Ao 86A B8 ST(B, DG o
2008 dodh BrdodS’ Gotwod? (g=10m.s7%)

Options:
1 % 10.2m

5 & 14.6m

L x 18.6m
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- 98m

Question Number : 84 Question Id : 5447341364 Display Question Number : Yes Is Question
Mandatory : No

When a vehicle of mass m 1s moving with a velocity v over a concave over-bridge. of radius of

curvature r, the thrust on the road at the lowest point on the bridge will be

r d5o° D‘Sﬂ‘ga $AN 28 YEPSG 08D m (03 (10 28 TR0 v A0S
D0reotRN D, & H0B ©B DY 36 DAL LR

Options:
muv?
mg +
_ r
1. ¢
muv?
mg —
2, % J
m?vig
3. %
vig
4.% T

Question Number : 85 Question Id : 5447341365 Display Question Number : Yes Is Question
Mandatory : No
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Block ‘A’ of mass 100 kg 1s kept above another

block ‘B* of mass 300 kg. ‘A’ 1s tied to the wall ‘C” /
with a horizontal string, The coefficient of friction .
between ‘A’ and ‘B’ 15 0.35 and that between ‘B’

. . . v A4}
and the horizontal surface is 0.5. Find the horizontal E/-_' y

force P, necessary to move the block ‘B’.

100 kg @503 o o) ‘A", 300 kg @03 o 08 B} ‘B 29 &) 8. ‘A" G}

282 RAredd S48 ‘C’ ok fidsy s o) 6. ‘4" 2Bako ‘B’ v M| wgn
6950 0.35 28050 ‘B’ & a8 m¢5 0.5. 5&3& ‘B’ SB000S 095064 £A2

Nearodhd Lo P

Options:

. % 1150 N

, x 1250 N

3 2350 N

, % 1420 N

Question Number : 86 Question Id : 5447341366 Display Question Number : Yes Is Question
Mandatory : No

Two bodies having masses m the ratio 2 : 3 fall freely under gravity from heights which are in

the rat1i0 9 ¢ 16. The ratio of their linear momenta on touching the ground 1s

Goth) SRV G(O"H0e 2 : 3 ;IS &%) . 0D 9 16 3" i Ao Aoct
RN Sod8 HEBIT) . ZrD TR T8 Bdab 3B Ay

Options:
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y, 8 253

, % BEIB

Question Number : 87 Question Id : 5447341367 Display Question Number : Yes Is Question

Mandatory : No

A body of mass 0.15 kg moving with a velocity of 15 m.s™* comes to rest when it hits a
spring that is fixed at another end. If the force constant of the spring is 1500 N.m ™. the

compression in the spring 1s

0.15 kg G303 (10 330 15 m.s ™" Sidwd’ pasredod, 2 22 Dhotseacd yohisy
GED D8y OGS 300 M)oh T8 10 FoeS3w 1500 N.m ™. Dofies* 8

Pontdo

Options:

1 0.15m

0.1m

3 % 0.2m

4 = 0.5m
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Question Number : 88 Question Id : 5447341368 Display Question Number : Yes Is Question
Mandatory : No

What 1s the nature of the graph between momentum of a body and its kinetic energy?
28 DRV AINE); GHDAN0 HBAKD ABFLL NE[ TP AWPS3W ADh?

Options:
Straight line
OO

Parabola
DT 000

Circle
9800

Ellipse
&G Jysa0

Question Number : 89 Question Id : 5447341369 Display Question Number : Yes Is Question
Mandatory : No

A particle slides down along an inclined plane AC., If the A
plane 1s frictionless, kinetic energy of particle at ‘C” is L “%

y
28 5.0 TP SV Mol Sl PR, SV

G
2066 Gardaond ‘C Dodded) 56 6o 011)5& WL B
Q @ - X C

wodd?
Options:
1.v 9y
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> % mgx

. ™9 (5a)

b 4
4 % e (cus&)

Question Number : 90 Question Id : 5447341370 Display Question Number : Yes Is Question
Mandatory : No

A uniform disc of radius ‘a” and mass ‘m’ 1s rotating freely with an angular speed of ‘@’ ina
horizontal plane about a smooth fixed vertical axis passing through its center. A particle. also of
mass ‘m’ 1s suddenly attached to the rim of the disc and starts to rotate with 1t. The new angular

speed of this system 13

@ TR0 m’ 803 60D a8 HTS6 DY) ‘v’ Eeioh HAnd’ 02 drods
BVAND & Bogdw Mot J'ah S)ERY A6 Y Lo Do SEMSB. ‘M’
@9(0°3 (10 S DYy V), B @s&é@w odSond, RS ) ZrreD
5008, wand 230 ey §9 Enab d

Options:
w

1.¢ 3
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Question Number : 91 Question Id : 5447341371 Display Question Number : Yes Is Question

Mandatory : No

The moment of mertia of a thin rod of mass *‘M" and length ‘L’ about an axis passing through a

. . L ; : ; ;
point at a distance = from its center and perpendicular to its length 1s

L
M @o3. L T $OAD w8 1) sg‘. a38), Soglo Ao 3 Grdod’ &) Do
ot J'B08) worda) Horr wed Pso

Options:
ML?
1.% 48

ML?
2 % 48

ML?
12

3. %

7ML>

L 48

Question Number : 92 Question Id : 5447341372 Display Question Number : Yes Is Question

Mandatory : No
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The torque due to a force F=3i- 27 — k actingatapoint T =81 +2] +3kis

w0 F =31 —2] — k o038 28 Do) T =81 +2] + 3k i Hddoho S0d
A0\ &P6),

Options:

, w —41—17] +22%k

, o ¥E+17] —22%

.« 81 —17] +22k

9 17 Rk

4, ®

Question Number : 93 Question Id : 5447341373 Display Question Number : Yes Is Question
Mandatory : No
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Match the following entries in column-I and column-II with respect to an oscillating spring-block system:

Column-I Column-II
(a) Mass of the block 1s doubled (1) Energy of oscillation becomes 4 times
(b) Spring constant 1s made 4 times (11) Speed of block becomes 2 times

(¢) Amplitude of oscillations is doubled (111) P.E. becomes 4 times

(d) Angular frequency is doubled (1v) Time period becomes V2 times

Eonaren ar_g;al ofi- &:né a‘gargs: 0oLoBo0N ANEL) BV’ BTN Bottsd QNG
BoT0d 28 Bodod

ON-1 20N -1
(a) &) a08), B[O 080x) B (i) SodTro 38 4 Bw L

(b) 06 Sorosiaw 4 00 3 (i) &, 6 2 3o

(0) Sodmw Eod DODS oo B | (i) DO ¥4 4 04 LA

(d) Eraath gy 0oy B3 (iv) Eomads soan 2 Bk

Options:
,x (a=iii), (b—ii),(c—i),(d—iv)

S & (a—iv),(b—i),(c—iii), (d—ii)
. (a—ii),(b—iii),(c—iv),(d—1)

- (a—iv),(b—iii),(c—ii),(d—1i)

Question Number : 94 Question Id : 5447341374 Display Question Number : Yes Is Question

AP EAPCET 2021 .
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A particle of mass 0.4 kg executes simple harmonic motion of amplitude 0.4 m. When it

passes through the mean position, its kinetic energy is 256 X 10™° J. If the initial phase of the

oscillation 1s 3 then the equation of its motion is

0.4 kg $550°2 o Seas 0.4 m S0 DS (10 VOV TUS)S BORN BB, &
Seasdn A eRe gva;m (ot DOreIodRIYE T (1323 256 X 107° J. Eosdw aws)

§9 4 % 90208 B0 PEEBHAD

Options:

18
x = 0.4sin ((0.4)1? + T)

1. %

x = 0.2sin (Z\E - (E) t)

4
2. %
T
x = 0.8sin ((2\/2_)1? y : 7)
3. %
T
= 0.4 sin ((2\/5) t+ T)
4.9

Question Number : 95 Question Id : 5447341375 Display Question Number : Yes Is Question

Mandatory : No

AP EAPCET 2021
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A spherical shell is cut info two pieces along a chord as shown i the

figure. ‘P’ 1s a point on the plane of the chord. The gravitational field a

at ‘P’ due to the upper part is I; and that due to the lower part is I,.

P

What 1s the relation between them?

DO20E WraR DG 28 Fvsd MY 8 P68 dot)d
S0€) QT SQBoEG. ‘P’ OB | g SUY' 28
Dotid). b SoBasy B erriww sGeaorT P’ Dot 36
D0\ DOSEE0 SOV I [ o wond

Options:
1% L > 1

R4 L =1

No definite relation

i o8 D06 DEDH0L) NoLIoGA Gokd

Question Number : 96 Question Id : 5447341376 Display Question Number : Yes Is Question
Mandatory : No

Work done 1n raising a body of mass ‘m’ from the surface of the earth to a height e

. (Where R 15 radius of earth, M is mass of the earth and G 1s gravitational constant)

R
M’ GO 0 SKVY Ardd g, EHBSVANY — DD SRDA DEHD
DODSVAN D . (R — & ;a-;savgm M — 3 G303, G — ¥
AT S NTT0SAW)
Q@

Options:
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GMm
4R

1.

4GMm

3GMm
4R

GMm
3R

Question Number : 97 Question Id : 5447341377 Display Question Number : Yes Is Question
Mandatory : No

When a spiral spring 1s stretched by suspending a load with it. the strain produced is called

strain.

28 HGOTSE V)M T STEAVIYD, A)S” 597 D50 IB?

Options:

Volume
_ DODBAT 0

Shearing

b DT

Transverse

BSOS

4. %
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Longitudinal

eﬂmggs

Question Number : 98 Question Id : 5447341378 Display Question Number : Yes Is Question
Mandatory : No

The flow rate of water from a tap of diameter 1.25 cm 1s 3 litres per munute, If coefficient of

viscosity of water is 107> Pa.s. the nature of flow is

1.25 em a0 $9A% Dveax i #o0d, 60 AAIS 3L YD B3PI 6. A8
aws), V)" hrsan 107 Pa.s wand & e

Options:

Unsteady

- NVEEGTS HTTTEAD

Turbulent

ISTEGTARS e o Ll b
2. @

Streamlined

5 % B0 0aF DITPOW

Laminar
4 QOSCE DTEIP AN

Question Number : 99 Question Id : 5447341379 Display Question Number : Yes Is Question
Mandatory : No
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A cylindrical tank 1s filled with water to a level of 3 m. A hole 1s opened at a height of 52.5 cm from
the bottom. The ratio of the area of the hole to that of the cross-sectional area of the tank 1s 0.1, The

square of the speed with which water will be coming out from the orifice is (g=10m.s7%

28 g:vs-soo 8¢ NS 3 m 2008 H68) NS onedda. 6 ecorh erian dod 52.5 cm
Y D) Gogn BADREAR. So@ T (IS, T D[\ DTS i A 0.1. Gogn

A0d, OB Iy A8 I A S8 g=10m.s7?)

—
Options:

-
i 50 m®.s

5> % 40 m2.s~*

_ 515 mts?
3. %

i 50.5 m?2.s~ 2

Question Number : 100 Question Id : 5447341380 Display Question Number : Yes Is Question
Mandatory : No

A beaker 1s filled completely with water at 4 °C . Identify the incorrect statement:

2,8 DB 4 °C 56 NS QPOT DodlIB. & §od TS WOFAB.

Options:

Water overflows when heated above 4 °C

. 4°C 87 e DABDIYE A TPV P

Water overflows when cooled below 4 °C
4 °C So3 HE) S BVDBDINE A TB'eHa
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Water overflows either when heated above 4 °C or cooled below 4 °C
. 4°C 877y D50, 200050 4 °C $T7) B8),D LONIDE A TET'H

3.

Water will not overtlow when cooled below 4 °C

4°C s SHEY) T &5 2DED D e
L HC ST e Im &) s

Question Number : 101 Question Id : 5447341381 Display Question Number : Yes Is Question
Mandatory : No

A wall has two layers A and B, each made of different materials. Both layers are of same thickness. But,
the thermal conductivity of matertal A 15 twice that of B. If. in the steady state, the temperature difference

across the wall 1s 24 °C. then the temperature difference across the layer B 1s:

w8 & Boch Tdw A Ldokw B 6T Q. W8 3;56*5 20 D% :Jwgvé’ Bodrd) tod) LG, Gotl
Toe 28 Sosdd 6T 0. N TG A AS), GRS B Sot) Got) B8 8. VS

ig@é‘ ood, A¢ Boder egﬁow E365 24 °C, &R\ B T eoder agrj@ (00 dod?

Options:
1 x 8°C
5 % 12E

3 v 16°C

4 % 20°C

Question Number : 102 Question Id : 5447341382 Display Question Number : Yes Is Question
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Which of the following. in general. is a slow process?
& S0 T°05° Q20L& oD HSAD DA?

Options:
Isothermal

11&@5?:&5@“95&‘&)

Adiabatic

5 o o’
5 g&‘%;;s HEaD

Isobaric
.’gcsﬁaaa HdadH

Isochoric
;ﬁad D0R0HDBAT HSoD

Question Number : 103 Question Id : 5447341383 Display Question Number : Yes Is Question
Mandatory : No

AW = 0 for the process

AW =0 00335 DSOD

Options:
Isobaric
| P DD HSoH

Isochoric

T, R DODDBA"E SO
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[sothermal

DA eJ'dee Do
3.8 »

Adiabatic

i & gﬁg‘s HDéaD

AP EAPCET 2021

Question Number : 104 Question Id : 5447341384 Display Question Number : Yes Is Question

Mandatory : No

A given system undergoes a change in which the work done by the system equals the decrease

m its internal energy. The system must have undergone an

TN AN - &' B8, B S50 BR DI T odd 3860 S

Do, & SN BO\RBIT BAS &' I:Pood?

Options:

Isothermal change
230 e%g"gw SULEN

Adiabatic change
gﬁgs SN

Isobaric change
SEVHI-E RS ZAN

Isochoric change
D) DT arciob

Question Number : 105 Question Id : 5447341385 Display Question Number : Yes Is Question
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Mandatory : No

Molar specific heat at constant pressure Cp 1s related to internal energy U and absolute

temperature T as Cp =

20 SEDA0 3¢ Arers DITRAW Cp . 0BG 3§ U odos D6 &8 T & o
RoLoGaw Cp =

Options:

UXT

Question Number : 106 Question Id : 5447341386 Display Question Number : Yes Is Question
Mandatory : No

Speed of a sound in air

moes” SR DA

Options:

1s independent of temperature
&) 18D STEDEM

1. %

mcreases with pressure

| DERB0E DOLSS
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increases with increase in humidity

36 DEBEoS DA
3.¢v ©

decreases with increase in humidity

e38h GRG0 DBV
4. % @ N

Question Number : 107 Question Id : 5447341387 Display Question Number : Yes Is Question
Mandatory : No

A thin lens of refractive index 1.5 has optical power of —5 Diopter in air. Its optical power in a

liquid medium with refractive mdex 1.6 1 Diopter

L5 532538 orsR) $BA 28 et sws md’ -5 catrd e d) sBA
&) 8. wond 1.6 38259 s $DAD w8 @IS’ ¢ 0o e &mgéan Qoth?

Options:

1.¢ 1

Question Number : 108 Question Id : 5447341388 Display Question Number : Yes Is Question
Mandatory : No
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The ratio of maximum and minimum intensities in an interference pattern 1s 36: 1. The ratio of

the amplitude of the two mterfering waves will be

(0860 QPEPANS’ (108 B S Sade dg), My 36: 1, 000 S[B8ded
60T S0 DBBL MG

Options:
1 % L

2 % 7:4

3‘34:7

4-\¢7:5

Question Number : 109 Question Id : 5447341389 Display Question Number : Yes Is Question
Mandatory : No

Two nsulated charged metallic spheres ‘P and *Q” of negligible radii have their centres separated by a

. _ ) e . =, 2
distance of 60 cm. The mutual force of electrostatic repulsion if the charge oneach1s 6 X 10 " Cis

P’ B Q" & Both &' 8H3S fivren B8 "-’“53’8"-‘*” &9A ¢) Sogren 60 cm
ro08" b dosvedt &) 0. O 638w 6X 107 € eavd, D6 deiy® e o __

Options:

-3
1‘%;;,‘3')(10 N

_25%X10°°N
2. %

-4
3 % 52X10 °N
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" 9x10°°N

Question Number : 110 Question Id : 5447341390 Display Question Number : Yes Is Question
Mandatory : No

Two capacitors each having a capacitance 2 X 107° F and a breakdown voltage 5000 V/, are joined

in series. What will be the resultant capacitance and the breakdown voltage of the combmation”

2 X 107° F 33083y 5903 Boch 337006 w0 336" Rotrditn dobedda). 28)8) &)
B\ ST 5000 V. DB 2oeroidsd Shd T8 H 3FH09) DBt Msysd S8

20 T

Options:
4x107° F & 1,000V

| P

-6
2‘_\ylf) F & 10,000V

3 % 2X107°F & 5,000V

4% 10°°F & 2,500V

Question Number : 111 Question Id : 5447341391 Display Question Number : Yes Is Question
Mandatory : No
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A silver wire of length 3 m and of cross-sectional area 6.14 X 107° m” carries a current of 6 4.
Atomic weight and density of silver are 108 and 10500 kg. m respectively. A silver atom

contributes one free electron for conduction. Avogadro number is 6.023 x 10 / mole. Drift

velocity of electrons 1n silver is, close to

3m T, 6.14x 107 m’ Sog(i\6 TN w8 Do & 64 DS
D3P0, Dol AVE), HEATE LAY 20BN Fogden ST 108 SBky
10500 kg.m™>. 28 Dol DEATEWY) DTFo 1o wé bsm"_) DUSRR R\0B. OITE
Poaf 6.023 X 107 / mole. 306" dogS atug, 4D Siaw 07T Jod?

Options:

1 % 10 2 ms™!

—4 |
L 1 Tanx
e

-1
3 ¢ 0.1 ms

~1
4% 1 ms

Question Number : 112 Question Id : 5447341392 Display Question Number : Yes Is Question

Mandatory : No

A coil wrapped around toroid has mnner radius of 20 cm and an outer radius of 25 cm . If the
wire wrapping makes 800 turns and carries a current of 124. The maximum and minimum
values of the magnetic field with in the toroid are

20 cm 080 TG, 25 om ePir TG0 SRR 8 Horan D w8 Oty
LREDD. S tob) avs), o) dogdf 800 0Bk &7 Mot Prer DAVS 124 eand
Horoné 600 ol 0L 08 EBAn g (1B LB S JewHen ST

Options:
AP EAPCET 2021
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- 9.6 mT, 7.68 mT

5 % 4mT, 25mT

3 7mT, 5.6 mT

6.6 mT, 3.3 mT
4. %

Question Number : 113 Question Id : 5447341393 Display Question Number : Yes Is Question
Mandatory : No

Two circular coils 1 and 2 are made from the same wire. The radius of the 1% coil is twice

that of the second coil. What 1s the ratio of potential difference applied across them Vl- s0 that
2

the magnetic field at their centers 1s the same?

28 Off AdoC. SOLrAXSALLEA Toth) TS0 ALY ). TG e Srithoey aIE)
.-rﬁaoga» Goct SR8 B0y, T8 Somre) 6 6\E WOV 08 ETL0 VAFDA
V.
SR8, TP Gl TOaHS Sare Anyd Tl e otd) ?
2

Options:

1.3'33
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Question Number : 114 Question Id : 5447341394 Display Question Number : Yes Is Question
Mandatory : No

A copper rod 1s moved in a magnetic field. The charge developed across 1ts ends will be

proportional to

28 TN 86 8 003 08 £3:S" SBoDITE. €6 G0 §90 06 )0 Bod LD
B8 06 SrTSE” Godd

Options:

Magnetic flux
vo:bb"z)m.’s 0T o

1.8

Rate of change of magnetic flux

9T s3eaes” 50760y B
2. v

1/ velocity of the rod

1/& BE), Desss
3. % o

1/ magnitude of the magnetic field

% 1/ £903037) 08 ES30 GBS, HBXU7EHD

Question Number : 115 Question Id : 5447341395 Display Question Number : Yes Is Question
Mandatory : No

The self-inductance of two coils of a transformer 1s 20 mH and 30 mH. What 1s the resistance
between them?

28 05650 &' Boct) ot Rabo 6t 20 mH 0B 30 mH. T8 36s] WS od?

Options:
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1.5 0

, 4 6000

Infinite

) v VBB

Question Number : 116 Question Id : 5447341396 Display Question Number : Yes Is Question
Mandatory : No

A transformer works on the principle of

D0DGSDD DR WoT ATEGHWD

Options:

Self-induction

SNl
1. ¥

Electrical inertia

(D 2EEH AL

Mutual induction
93D S
3@ e

Magnetic effect of electric current

: DENS DITIro I, 0, 08 Derdo
4.
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Question Number : 117 Question Id : 5447341397 Display Question Number : Yes Is Question
Mandatory : No

Which one of the following 1s the property of a monochromatic. plane electromagnetic wave in free space?

(0BT s 18 D0, d:se D Eabi¥ of Sdorisn TS, 6630 & dod TS DA?

Options:
Electric and magnetic fields have a phase difference of %

T
5§ bmsé, wo:b&"boé ETO D6 — BT HEI0 G0t

The energy contributions of both electric and magnetic fields are equal
DEN S, ALI) 0d TV VD F§ BB VIATVDIVMT &0
.Y Ra

The direction of propagation is in the direction of B X E

s B X E 8%5° 3606 HY6 &% éocodd

The pressure exerted by the wave is the product of its speed and energy density
Bborian B8 SenrBabad HEHD, T abog) i Bk 3§ Fogdw VP

4 s DATRZT G

Question Number : 118 Question Id : 5447341398 Display Question Number : Yes Is Question
Mandatory : No

When a light of wavelength 4900 A falls on a photosensitive metal. a negative 2 V potential 1s
required to stop the enutted electrons. Then the work function of the material s nearly . Given
charge on electron = 1.602 X 107** C and Planck's constant = 6.625 X 1073* I.s

4900 A BGorigg ) SDAR 508 a8 T Arg) s §iranD DOVIY W, Wds

TOHS ensd 2 V. eand &'t OG0 G, O PR0aLAD _ (Fob ?émsan:s.ézs X

107 1.5, oS ed8aw 21602 X 1079 )
AP EAPCET 2021 _
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Options:
1. ¥ 1.1eV

, % 2.2eV

3 o 0.53 eV

4. % 1eV

Question Number : 119 Question Id : 5447341399 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): The impact parameter for scattering of a- particles by 180° 1s zero.

Reason (R): Zero impact parameter means that the a-particles tend to hit the center of the nucleus.
.na‘)am: (A): eery Sered 180°65° HBENA BoAS DT DO T

500 (R): 9DHrd DTS NOT) T By SEFL) SofSa0 axws), m,ﬂ e;rrr*:}l ¢
§ErI8 Do) Frow

Options:

Both A and R are true and R 1s a correct explanation for A
. A 208000 R Bocr 0BG, 208010 R €56 A & 2BGLD e

Both A and R are true but R 1s not a correct explanation for A

, x A 20801 R Botr 2OGHID, 5O R 0938 A & 2800 DG S°

A 1s true. R 1s false

. x A PBELIB, 5 R 28 57

4, %
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A 1s false. R i1s true
A %0 570 5° R 20a058

Question Number : 120 Question Id : 5447341400 Display Question Number : Yes Is Question
Mandatory : No

The current gain for a transistor working as common-base amplifier 1s 0.96. If the emutter current

15 7.2 mA. then the base current 1s

e.méci (Zlaxo :J;g SES SV DABAEA) 28 g:)jgﬁ aws), 9T eradw 0.96. &ord

&']méé 7.2 mA 008 esed 3@55
Options:
5 P 0.29 mA

. 0.35mA
2. %
3 % 0.39 mA
4 % 10 mA

Chemistry

SectionId: 54473427
Section Number: 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
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Enable Mark as Answered Mark for Review and
Yes
Clear Response :

Question Number : 121 Question Id : 5447341401 Display Question Number : Yes Is Question
Mandatory : No

The shortest wavelength in hydrogen spectrum is approximately

TEBS Y DLANG” O BL),D BGoABYAN WATCIT

Options:
121 nm

1.%

5 91.2 nm

3 x 182nm

4 % 89.2 nm

Question Number : 122 Question Id : 5447341402 Display Question Number : Yes Is Question
Mandatory : No

The ratio of de-Broglie wavelength of two particles 4 and B 15 2 + 1. If the velocities of A and B are

0.05m.s~* and 0.02 m.s™". respectively. then the ratio of their masses m, : mp must be

A ot B gore 5D Sdoriag iy 2+ 1. 4 30800 B & o 3men 365
0.05 m.s™* S8k 0.02 m.s~* eand, T8 QTR B My Mg

Options:
8 %1

10: 1
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3. 15

4% 178

Question Number : 123 Question Id : 5447341403 Display Question Number : Yes Is Question
Mandatory : No

If the maximum kinetic energy of photoelectrons ejected from a metal surface when it 1s

irradiated with a radiation of frequency 4 X 10" 57" i5 6.63 X 107 I. then the threshold
frequency of the metal 1s

w8 6 8erd) 4 X 10 57 i o D36ErdS ABSALT Hewddd Sod dog'd

(1033 (19298 6.63 X 107" ond. &8 &' 6oz iy

Options:

g 1047t

s (et
A

s nl4 =1
3_¢3X10 S

1% 10 g™

4. %

Question Number : 124 Question Id : 5447341404 Display Question Number : Yes Is Question
Mandatory : No
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Which element belongs to the family of elements. that also mncludes element Gallium?

$0d Aresrod’ rdobay &) (rd &5 (0 Aresan 8?

Options:
Carbon
’5“6&5

Aluminum

@wlgé’)aacm;‘.m
2.9

Iron
R 2

Arsenic
s Babaé

Question Number : 125 Question Id : 5447341405 Display Question Number : Yes Is Question

Mandatory : No

Which of the following element, has the highest number of unpaired electrons in its ground state?

AV g'o.ué‘ GR) DY, OS(BE 28 (ARG JVTD e (wotd JUF"HW) VA

Options:
1 = Mn

5 & CT

5 % Ni
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Fe

Question Number : 126 Question Id : 5447341406 Display Question Number : Yes Is Question
Mandatory : No

In the modern periodic table. the acidic nature of oxides

e5CODE 35GD DHSES” 5T oo e D(PDAL

Options:

Increases from left to right and decreases from top to bottom

. DEBD o) LIEDNS DA BOI P Aot SodS SdW.
L

Decreases from right to left and increases from top to bottom

- S0C. Aow) AEIVDNS S0 0At 2 Ao SodS DAMD.

Remains same across a period and increases from top to bottom

, o DDOHE Bodr DATBOMT G0, JBaK P Aol S0 DANDA.

Decreases from left to right and remains the same down the group

i DEH Aot) LIEDH S LBk (e 90T DATDOIT &otd.

Question Number : 127 Question Id : 5447341407 Display Question Number : Yes Is Question
Mandatory : No

The dominant intermolecular force that must be overcome to convert liquid methanol to its

vapour 1s

DESS BT TR wfq:]dmoe’i‘:)é SN 9ROV S0P s
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Options:

Covalent Bonds
DATTRIOD LoTEeD

Dipole-Dipole Interactions
| OUER-B(E)R DORNG WO

Hydrogen Bonds

5 . ERS wotren

Coordinate Bonds

?bmasoj:: 2OTI" D
4, ®

Question Number : 128 Question Id : 5447341408 Display Question Number : Yes Is Question
Mandatory : No
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Match the following 1ons with the corresponding hybridization of their central atoms?

Tons Hybridization
(i) NO, (a) sp?
(i) NH, (b) sp
(i) SCN (c) spid
(iv) ICL, ) sp?

S0¢) DOATLY) No5BS G0 '5“’3‘?5 08 OIrDVR TS BH VosEEsRS BdBaIAN?
TIOLENIY 0884600
i) No, (a) sp®
(i) NH, (b) sp
(i) SCN (c) sp’d
(v) ICl, (d) sp?

Options:
1-w?(i*»cl), (ii—a), (iii—Db), (iv—=c)

,  (i—¢), (ii—b), (ii—a), (iv—d)
, x (i—a), (ii—d), (iii—c), (iv—b)

4% (i—b); (@—e¢), (ili—4ad); (iv—a)

Question Number : 129 Question Id : 5447341409 Display Question Number : Yes Is Question
Mandatory : No
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If an element mn group 2 formed a compound with an element n group 17 of the pertodic table.

the compound formed 1s likely to

563 DOSY’ (XD 2 6’0 s, (e 17 SPOEA08 28 ) ¥R 010038, &
SSULARY

Options:

conduct electricity in the solid state
maigaes" DS DG B0

have a low boiling point

L O8O TP FrdB (2dork aY'(S) $9A Gocod

dissolve in non-polar solvents
DEVSD T SEHA

be a crystalline solid

SR “cOJQBSa‘.XJJrF GOt
4. v

Question Number : 130 Question Id : 5447341410 Display Question Number : Yes Is Question
Mandatory : No

At what temperature will the total kinetic energy of 0.30 moles of He be same as the total
kinetic energy of 0.40 moles of Ar at 400 K?

-y egﬁge .‘.Kg 0.30 ardw He 033356 200 ﬁ@&%‘é, 400 K bg 0.40 arodw Ar 03))55
Q0do ﬁ@%%éé TR0 GotoA)?

Options:

. % 400K
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. 300K

2 u 213K

1 o 33K

Question Number : 131 Question Id : 5447341411 Display Question Number : Yes Is Question
Mandatory : No

A gas deviates most from ideal behavior when it 1s subjected to

686, TADORY) IS Aol w8 TALVY) VALV MIVBAN 56 GrE)

Options:

low temperature & high pressure

B89, GY'BS SOBOSL DL D DEDIW
1. &

high temperature & low pressure

L 89D eX'(S S0B050 S8 D DEHE
2' * Eo

high temperature & high pressure

D) D EA’BS DHBOKN ALY D DEDIW
- "

low temperature & low pressure

B9 5 GBS J0B05 BEY D DEDBW
4. % -

Question Number : 132 Question Id : 5447341412 Display Question Number : Yes Is Question
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If the density of a 5 M solution of KC 1s 1.26 g ml™*. then find the molality of the solution.
(Molecular mass of KCl = 74.55 g mol™")

5 M. KCl grdeo Fo@d 1.26 g ml™" & grdeso arerde) dodd?
(KCl eomogidiod = 74.55 g mol™)

Options:
1 » 074 m

5 % 1.26 m

3 % 7.45 m

4. 3.38 m

Question Number : 133 Question Id : 5447341413 Display Question Number : Yes Is Question
Mandatory : No

Gastric juice contains about 3.0 g of HCI per liter. If a person produces about 2.6 liters of
gastric juice per day, find the number of antacid tablets required to neutralize all the HCI

produced. Consider each antacid tablet contains 400 mg of Al(0H),. Given atomic masses:
Al-27,0-16,H-1,Cl- 355.

8 D) 2166630 203762 3.0 g © HCI 20 $BA Gotwod. 28 3(8 a8 Baws* 2.6 Boug
2660F) &3 B, & Bard) o w?gsaomeas; ) BFE Argen
300407 DO BTG Srd 400 mg © Al(0H), J $9A Gotwod. HESre B9(0B0R:
Al-27,0-16,H-1,Cl - 355.

Options:
1. % 8
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2. % 20
14

4. % 10

Question Number : 134 Question Id : 5447341414 Display Question Number : Yes Is Question
Mandatory : No

The botling point of water at 1 atm 15 100 °C. Which among the following is true for vaporization of
water at 75 °C?

L atm 630 56 O @ a0 100 °C. 75 °C ¢ O ariasidian 2008 96 Jsiw?

Options:

0 -
. o Dpay >0

0
) AHugp <0

3, % Kvap =1

s 3 D% 0

Question Number : 135 Question Id : 5447341415 Display Question Number : Yes Is Question
Mandatory : No
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An ideal gas expanded irreversibly agamst 10 bar pressure from 20 L to 30 L. Calculate Q if
the process is Isoenthalpic. 1 L. bar = 1001

10 &6 © G0 I¢ w8 BE6) TP 20 L Aod) 30 L & FEDed 760 &8 HE
Y owdy§ (oardy&* drdoy Gei). @ & 4 ots2i20 (1L.bar = 1001)

Options:

Question Number : 136 Question Id : 5447341416 Display Question Number : Yes Is Question
Mandatory : No

Which of the following species acts as both Bronsted acid and base?

So8 2VS” EPIVE BAW MR BAKL TEH AP DA SO IB?

Options:

1% OH

2. % NHs

3 » NaCl

HSO,
4. 2
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Question Number : 137 Question Id : 5447341417 Display Question Number : Yes Is Question
Mandatory : No

Which condition among the following holds true at the stage of half-completion for the
reaction 4 = B?

A= B &3 w6 Rrfo Jrd o $35°. & S08 AONATVS’ DA V2AN BB’

Options:
e _
i o AG” =0

e“"::n-
,  462>0

 AGP <0
3.-

AG® = —RTIn2

4, %

Question Number : 138 Question Id : 5447341418 Display Question Number : Yes Is Question
Mandatory : No

Which of the following metals produces Hydrogen gas on reacting with cold dilute Nitric acid

S0 D20 HFTWed &PE PEAS T &d\d Bolbiv §iro & B APdodd
TS 287

Options:
1. % Al

2£Fe

3.v Mg
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4 % Cu

Question Number : 139 Question Id : 5447341419 Display Question Number : Yes Is Question
Mandatory : No

Which of the following pairs of reactions give H, gas as a product upon hydrolysis?

& BMD Aot BE[L DS D PSS’ Sair 2357w 2w JFHM V" H
TOVRYA W8 EBYR) o DBYGLIVY)?

Options:

H,0
a) Ba —— products (&8yJ°) )

H,0
b) BaO, -—2—}p1‘oducts (&5 )

H,0
a) Ca ey products (&SyT™)ew)

H,0
b) CaH, —— products (&8I ev)

H,0
a) K — products (&&yT°) )

H,0
b) K,0 ;}pmducts (&3 )

H,0
a) Na —= 3 products (&&yT°)ew)

H,0
~ b) Na,0, 5 g products (&8yT™) )

Question Number : 140 Question Id : 5447341420 Display Question Number : Yes Is Question
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Mandatory : No

Boron compounds behave as Lewi1’s acids because of their

&5°T°D Ra) FT"RD, UIPOIT® LIV D0 S°Ge0

Options:
electron rich 1n nature

&Sa,:'i')sarr DVT" DD BSoTT £0A &ocot) dd
1. % S

electron deficient in nature

&Se,rbsorw QgL §6d (e5°ew) dd
2.¢ o

ionization properties

i 9030 D€ G0 B GGl 0 SO
3.9

proton donating nature
, x SRR oo Ak GG HOD

Question Number : 141 Question Id : 5447341421 Display Question Number : Yes Is Question

Mandatory : No

An morganic compound (A) made of two most occurring elements in the earth’s crust and used
in building construction when made to react with carbon, forms a poisonous gas(B) which 1s

most stable diatomic molecule. Compound (A) and (B) are

4 ﬁdaa.mﬁ‘ O™ B85 Arvsed 0y A 8% Jureg 6D 0] ¥ B9

:)ovémms‘ EOAT A, TGS 8 $6[ 2008y B 03 2,8 D Teho) Q0YEB00B.

B ©dfed ?gd@é QOIS BEY). A 00k B "fo;':uy."a“w ST

Options:
.« 5102,C0;
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Si0,,CO
2.

. Si0;,N;

Ca0,CO,
4, ®

Question Number : 142 Question Id : 5447341422 Display Question Number : Yes Is Question
Mandatory : No

Which of the following compounds are aromatic?

S0d T°63¢5° DO IS Qo) Fren o ?

0O A L]

() (ii) (iii) (iv) (V)

Options:
(i), (ii) & (iii) only

e @ (D) & (iii) 3rgd

(i), (iii) & (iv) only
5 % (i), (iii) & (iv) Sradd

(i), (iv) & (v) only

s v @, (V) & (V) areds
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(iii), (iv) & (v) only

4w (D, (V) & (v) 3rgdo

Question Number : 143 Question Id : 5447341423 Display Question Number : Yes Is Question
Mandatory : No

Identify the most suitable reagents (I) and (II) for the following sequence of reactions:

Br Unsaturated br

Sold BT 888 WYL STV () 20 (I]) SESTVRL B

| [l
H,C—CH—CH, . ) i H,C—CH—CH,

Br R0 o

—_

Options:

(I) — conc. H,SO, (II) — HBr
. x (D m&H,S0, (1)~ HBr

(I) —» aq.KOH (II) — HBr / peroxide

5 (/) - d20.KOH (II) - HBr/ DTSG

(I) = ale. KOH (II) = HBr / peroxide

, « (D> =CKOH () - HBr /o8&

(I) > ale KOH  (II) - HBr
> (I) — =°6.KOH (I1) = HBr
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Question Number : 144 Question Id : 5447341424 Display Question Number : Yes Is Question
Mandatory : No

In Kjeldahl's method. organic *N° 1s estumated as

26 :agw‘, $6)® mméwoaw‘a DGR DOXTETS) SA0IT ™ 9o
SoHEIR

Options:

Nitrogen
A2

Ammomna
97" 03T

Nitric-acid
OB

Nitrogen dioxide

Z 0 T2 g\

Question Number : 145 Question Id : 5447341425 Display Question Number : Yes Is Question
Mandatory : No
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The major product(s) formed in the following reaction sequence is(are):

i) Zn/Cu, A
if) 04
2, 3-Dibromobutane >  ?
iii) Zn/H,0

& S0d :‘.’:dse‘i‘ E)d_)c.‘.o DD &AYR) AW / &Iy e

i) Zn/Cu, A
ii) O3
2,3- G808 > ?
iii) Zn/H,0
Options:
1R 2 CH;COOH

, % CH3COCOCH,

. 2 CH3CHO

CHO
2 HCHO + |

5 i CHO

Question Number : 146 Question Id : 5447341426 Display Question Number : Yes Is Question
Mandatory : No

In a mixed oxide of ‘A" and ‘B’. ‘A" occupies all the octahedral voids while ‘B" occupies

(2/3)™ the tetrahedral voids. The molecular formula of this oxide is

‘4" 2080t © D 6By & A’ 0) D Corodr, ‘B’ (2/3)3 Sodo 3D
BoEruRr SO, O, &8 Z\E IE) aw&cb&u'
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A3B,0;
A3B,0,
A3BO;

AB,0;

Question Number : 147 Question Id : 5447341427 Display Question Number : Yes Is Question
Mandatory : No

A 25% solution of cane-sugar (mol mass= 342 g mol™) is isotonic with 5% solution of a

substance A. Then find the molecular weight of A?

25% ©58),6 (ee@d(o-d = 342 g mol 1) @rideo, 5% A &3 mrado $80 &) 6
Ednod DTEPET 6) 8. A ), EIT3 Jod?

Options:

;% 6.84 g mol™*

v, 68.4 g mol™*

2 % 25 g mol™?

2 R 684 g mol™t

Question Number : 148 Question Id : 5447341428 Display Question Number : Yes Is Question
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Henrys law constant for 0, in water is 1.67 X 10° Pa. Calculate the approximate quantity of
€0, m 500 ml of soda water when packed under 5 atm C0, at 298 K.

298 K 3¢ 8" 6003 €0, I3 Aoy R0vogaw Dewd 1.67 X 10° Pa. B & 3¢
5 atm D3 500 ml ABS* S80S €0, GO[0-3 RArGorT T8 otdol,

Options:

Question Number : 149 Question Id : 5447341429 Display Question Number : Yes Is Question
Mandatory : No

A hydrogen electrode 1s made by dipping platimum wire in a solution of nitric acid of pH= 9
and passing hydrogen gas around the platinum wire at 1.2 atm pressure. The oxidation

potential of such an electrode equals V.

pH= 9 i Eradeod’ o SR Gol), 86 otr 1.2 atm 68 PERS TaboHR
DoR)B7, w8 TH2S JEED SrLETH. ¥ JEE dng) 8186 THIAS Jewsd
V.

Options:
. +0.059
T ™

, » —0.0531
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5 % —0.059

4 +0.0531

Question Number : 150 Question Id : 5447341430 Display Question Number : Yes Is Question
Mandatory : No

Salts of A. B and C were electrolyzed under identical conditions using the same quantity of
electricity. It was found that when 2.1 g of A was deposited. The weights of B and C deposited
were 2.7 g and 9.6 g respectively. If the atomic mass of A, B and C respectively are 7. 27 and

64. then the valancies of A. B and C respectively are

A (DoAreD Q55T3 7), B (D8 g35m§ 27) Sodasw € (Hddre 9350"% 64)
DIV 28 bbi‘gmva‘f SOOI 2.8 Dm'@a":ran SR EARIAV(NE e
89 2.1 Trawe 4 26166, 68 dorT 2.7 [rdow B 208050 9.6 e € 616,
008 A. B 2008050 € © Dodirasden Hham

Options:

. By 2

5 o . R

3-1;: 3

_ iR By 2
4, %

Question Number : 151 Question Id : 5447341431 Display Question Number : Yes Is Question
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The structures of XeF, and XeF, respectively are

XeF, S08ain XeFy, © QU rren S0

Options:

Linear and Square planar

i BDADEL SBAL DVBO WG

Bent and Square planar
‘ & E'e3ot D7) e 2B DAB BBLGRED

Linear and Tetrahedral

BHODAD B :::mmybomm
3. %

Bent and Trigonal pyramidal

i i E'edah Do) L0 208050 GETIOD ArEESTEaD

Question Number : 152 Question Id : 5447341432 Display Question Number : Yes Is Question
Mandatory : No

Which of the following represents the correct order for oxidizing power of the given species -
ClOy ,BrOg and 10,

C10; ,Br0; 0aso 10; © 3movs’ D6 ed s 20 DOV 930

Options:
- ClOy > Br0Og > 104

, » Brog > 107 > clog
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, « 105 > Broy > clog

i BrO, > ClOy, > 10,

Question Number : 153 Question Id : 5447341433 Display Question Number : Yes Is Question
Mandatory : No

When Sulphur is boiled with Na,S50;. a compound (A) 1s produced. (4) on reaction with

excess AgN 0 solution gives a compound (B). which after dissolving in water produces a
black colored sulphide (C). Identify the compound (4). (B) and (C).

P0Y6 &0 NaS0; & Sé Babm A o o) vdw 61606, A 08¢ AgNO; Tonsnd
306 Jod B e D30 FA3WR0 BN B 20 IS S8R € & ded
©IZDA WA\ A, B 58050 € ) ¥dSnen S

Options:
T, Na,5;03, Ag25,03, AgaS

5 % Na,50,, Ag,50,, Ag,S

% NﬂzSzO?, Agst4, AgZS

4 x NazSOs, Ag;SOs, Ag,S0,

Question Number : 154 Question Id : 5447341434 Display Question Number : Yes Is Question
Mandatory : No
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The transition metal in which of the following compound has zero oxidation state?

oD PR YTE" DBIGD G0 951860 Do HPjo LONNG DA?

Options:

1% K;Cr,0;

5> w KMnO,

3 % Cl'Og

Question Number : 155 Question Id : 5447341435 Display Question Number : Yes Is Question
Mandatory : No

Among the following options, identify the one which exhibits the greatest number of oxidation states.

0l Josve’ v rusol’ B{ES B380n DR HEB Y WrVSY

Options:

1 % Fe

5> & Mn
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Question Number : 156 Question Id : 5447341436 Display Question Number : Yes Is Question
Mandatory : No

Identify the condensation product of the following reaction:

R — CHO + NH,0H ——

$0d DoVID cscs'gé" &) 28?7
R—CHO + NH,0H ——

Options:

. o R—CHy—NH,

5 % R —CH — NH(OH)

4-VR—CH=N—OH

Question Number : 157 Question Id : 5447341437 Display Question Number : Yes Is Question
Mandatory : No

‘X" and °Y" are optically active 1somers having formula C;HqCl . When treated with one mole
of Hy. *X" gets converted to an optically inactive compound *Z’. but *Y" gives an optically

active compound *P". The structure of X and ¥ respectively are

C5HoCl eed-aoerd cm Feysrsen Su. X , ¥ 0 8 ard H, & o[ a0m X
Z o3 )9t Fdyiiso D688 DA ¥REA) J6YGIA. SV, P & dyides ey
208 08 ) ¥ AO\GRA. X, ¥ v 07 R0 ST

Options:
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Cl

Cl

N\&/\/Cf\

Cl
2.
VZ Cl
3.8/\/\(:1 NN
Vi Cl
4.3/\(‘31/\ ) /l\/\

Question Number : 158 Question Id : 5447341438 Display Question Number : Yes Is Question
Mandatory : No

Which reaction of ethanol will decolorize bromine water?

2BSS aing), D B0 WS 2erd) DIGAD Bato?

Options:
o CzHgOH + HBr —— CzHgB?' + Hzo
: TR
+
2 C,H-OH b Gl — 0= Gl 4 H,0
> & 413K

AP EAPCET 2021 _
collegedunia:s
India’s largest Student Review Platform

el



AP EAPCET 2021

1
C,HsOH + Na —— C;HsONa + — H,0
3. %

H+
CszOH > C2H4+H20
443 K

4,

Question Number : 159 Question Id : 5447341439 Display Question Number : Yes Is Question
Mandatory : No

The major product of the following reaction 1s

BS 30D ::aqges" DOYED DR &S D) A0

O
i) LiAlH,
>
i) D,0

Options:
D OH
D oD
e
D H
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4.

Question Number : 160 Question Id : 5447341440 Display Question Number : Yes Is Question
Mandatory : No

Which of the following statement 1s false?
BAD AN D DIV BY?

Options:
Only tollens reagent can oxide both aliphatic and aromatic aldehydes
| 509 T0e0 a7 DS 200080 6B ArSE BBrE Sodd el 8o o

Oximes are less acidic than hydroxylamine

L, T DS Sot3, 5T B0eD $L), D BT $9h &) D

Sodium borohydride does not reduce carboxyl group
50785 Do S Fdabo 58 EE LoEGERA BoHSE

3 %
Di alkyl cadmium 1s considered superior to Grignard reagent for the preparation of a
ketone from an acid chloride
28 8 §36 Aol 8ErD Baird) Bokwed’ A T6 56880 Sofl & 69 S
5°C) 00 A &R SJAT HBAAF

4. % = =
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